
r ilIilt iltil fir rriil ilill lill llll

I Semester B.A.lESg/B.Sc. {FAD} Examination, MarchlApril
(CBCS) (2914 - 15 and Onwards) (Repeaters)

Paper - I : LANGUAGE SAMSKRITAM
Kumarasambhavam - Il Canto, Grarnmar and

Time : 3 Hours

lnstructians : i) Answer in Samskrita/Kannada/Engtish.

ii) Question l, V and Vt should be answered in Samskrita only.

Max. Marks :

{10x1=10)t. qdffifr-ceTfrrsrd 
'

doodrdd wddddl so* udo):o :

Select and write the correct answer:

1) gffir{gIqqs qai m: ?

s{) ura: en) erkqlq:

2) t-qrrq' 6' ?

er) sgr , *) frq:
3) q: tT{r6*Er g{ +qqTqT€ I

':d) {q: grt) qqq'

+) wftrqrQ-qffiqtz-orfrqfr i
3n) q-q 3il') qfl

s) o,fr fr-rtct: @ i
3{) qen' 3rT) q{.

6) qqrffi E-q-ffi u'r qqi i

B) g{Hs 6h: s: ?

3T) sflr en) frwj:

E) qrqfu: {l *.oS'

e) ftrq, t) E-q,

E) arfr: {) qrg,

{) qqE) *ftT
:

s)E €l s,q

w) qIFr sT) rr${ E) wqq-e {) 6rt$

z) sSq-qT: irl4 Eqrdq ?

en) gqg en) frrqw B) rqqT' $) er=il'

{) E-q,
P.T.O.
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q) fqrq,

b
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s) $qKsnTA m.fr qqf' qfri
en) qwqqr sil) lr*rq{r E) ffi:

10) iil-fs: tF': ?

3T) gt: er) erE: q) ffi:

! iilfiilt iltil lit ililt lillt lilt tfil

{) ?+qqT

{) qq'

ll. g-d: ysqq)' Bf,t frsf, : (2y19=20)

add: Ed4deii erodOx :

Answer any two of the lollowing :

t ) mlfrqqs *++-ste-for-f-fr' 3Tftr*-s xq;+rhi frfuar
raqoaid dedd-ree.r-ded c:dl dd8rtd&4 #o& {zuofidQ udos:0.

Write an essay on life-date-place and works of Kalidasa.

2) tdd.rqi spht kwnr
deddd$ qfirdo3:$4 adotu.

Describe the,,reQuest of Gods.

3) gqnqrtl-qFq kfrq q{ t*qi E-sur: e nnnqsi keu.|ot

d:dnddorpdd adddoJ: idrdO_ ud:d deddrld d:Q ry,drd norpaddoS:d:o

c^JcDO.<.).

Describe the conversation between Gods and Brahma in second canto of

Kumarasambhava.
,*'t

ilt.q?rT$ri Yf,}sHq 3wK BHr fe-gEar

dlra& d.qedfrSd:, ed:aCIot ad,o,qr.mo\

Translate and explain any three Shlokas.

1) 3{?{ irde ?rrdrt A {A e-df,tgu1l

epnqi qTFRqtST.sffi{t11

2) 3ll-arylqqleffir tR g"re-r.rn;rrrcrnrt

3rkrffi Ffr"r q rqqrc-+q v-dsfrtt

(3x4=12)
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(2xtl=$)

(bx1=5)

{5x1=$}

3) fltq E-q +dr q *ni qlffir ? w{ekT: I

tti q Afrqr qrfr sqar e+ri q qq{qtt

4) 3rfr q qqqrfu: yf,rqqft{fl-f,f,r: 
I

fur-qmr Ee rkrT: s-srqrf,la;*qdqlt

s) a-fla .rf,rT: frko: ynlqsEi HrTrrKT: I

qE qfrH Etnqi ral gqrsqRrdTls

rv. eilcFrf,ilqq<r{ I{{Edt
ad& aa8rrl$dl Sod$r Bbd edo,tu.

Explain with reference to context any two of the following.

1) i @ ftnT t-{'{rqfr Qe-arr

2) iri q,rffi frfuqr:t

3) Ex+q E{: Skri $trd-dT$q cwtt
4) Bwernq Etspi exrfigfifrfr1a; g

v. {q-d}nu-qr B-d{rftr ftqar

el) q*THi flo-g-n*lm-qq-nft ftrrgdr

1) IIq

3) qifw i

5) r{rdT *1

7) {riur

2) tq'
4) H:

6) T{T

B)Eq ;

eri) urr+i e-+-n-Srq-qqqifr fuso r

1) qqg

3) 3na(

5) 3{k

7) sqm

2) trqft

4)rTM
6) n-*fr

B) ftrclfr
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vt. 5q qfiEdq qB-€-r ftrcdl (5x2-10)

gu emr+rt rtHatq*ryamwf+; rpft: {q3lqrf,qEl ilq 3iRPntq6q: fr{i{{:
c6EFt: q ene-frdt ,rt-q' E?i qfua, srdl-f,: q'fr: q 31Kl qruHTwi qrq q-if srai
qtsq ssfln1r q; Tqfr: HftffiBur gwfg tra, gq6 efi nqEo-eft *ffi, vte
xg61dEr a{q €utqi mrfrq,Hr-fl: €{: t6Et-€{: q{l$rfrl xqfr, qffiq: fi anqr

tfuqsr<sr: anrirn{ itm=o1l A Aftq-dT fu !-*ur: 'd sk& a gqrmT' 1

YFIT:

1) sl-{r+ns \tf,d: s': ?

2) q: fiWr: 3ilmE ?

g) aeq iilr{Prt t s-{fr{ ? ''

4) t-{ srki srdi @ i
s) R'r<vr: qrmrrt ftqeh 3llr€1 ?

,*,t


